Paramaters from Excel
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£:=45- 10 Wrought iron roughness (45 microns, Source: efunda.com)

v := 0.000000365
p =972
A= 9.81

Variables from Excel:
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Mass Flow Rates mf =
0.048
0.13
CALCULATIONS
T _2
CSA A= 7P
3 mf
Volume Flow Rate Q= ?
Velocity \V Q
MEA



Reynolds Number 1.267 x 104
—) '
Re.= L D) 1.847 x 10
MW N Re =
1.958 x 10
432 x 10*
PROBLEM SECTION
Friction Factor Assume f:=0.02
Given
1 Neg 2.51
— =-2-log| — +
\ﬁ 3.7 NRge - \ﬁ
Fn(Nge. N;) := Find(f)
Ni:= | for ie 0..3 0.038
; 0.037
Tempi <~ Fn(Rei,s,) N, = £l
0.035 w
Temp
0.031
Head Loss per metre:
3 51.165
Hm:= M-Z-g -f | 104.676
D 51.009
120.284
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